
No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.











EXEMPLAR Score 08 

Question 1 – N2 

Q 1(a)(i) – X placed inside of frontier – correct 

Q 1(a)(ii) – arrow towards frontier – correct 

Explanation – no mention of economic growth. Candidate discusses exports, which is 

incorrect. 

Q1(b) – graph shift correctly 

Explanation – candidate mentions “economic growth” and increase in resources or 

technology BUT no link to increase in future output. 

MUST have 1 x explanation correct in Q1 to achieve above N2 

Question 2 – A4 

Q 2(a) – curve shifted and labelled correctly 

Explanation – candidate only mentions increase in Government spending will lead to 

increase in economic growth. (Achieved evidence only) 

Q 2(b) – curve shifted and labelled correctly 

Explanation – candidate mentions increased cost of production decreasing Real GDP but no 

decrease in economic growth. This must be mentioned in (a) or (b) at least once in order to 

get credit for both explanations. 

Question 3 – N2 

Business positive – who and why (make production process faster) but no implications of 

this (A evidence) 

Business negative – electricity companies not accepted. 

Household positive – easier access to renewable power not accepted 

Household negative – potential to have reduced access to power and water if earthquake (A 

evidence) 













EXEMPLAR Score 10 

Question 1 – M5 

Q 1(a)(i) – X placed inside of frontier – correct  

Q 1(a)(ii) – arrow towards frontier – correct (point c explained in written information below) 

Explanation – Increase in output, increase in economic growth and basic to model BUT no 

WHY. (A evidence) 

Q1(b) – graph shift correctly 

Explanation – candidate mentions “economic growth”, specifically links to model (a-b) and 

how this results in the possibility of greater increase in the Real GDP in the future. (M 

evidence) 

 

Question 2 – A3 

Q 2(a) – curve shifted correctly and labelled correctly 

Explanation – candidate mentions increase in Consumption, Investment and Government 

spending will lead to increase in Real GDP (but not economic growth). (Achievement 

evidence only) 

Q 2(b) – curve shifted correctly 

Explanation – candidate mentions increased cost of production decreasing Real GDP but no 

decrease in economic growth. This must be mentioned in (a) or (b) at least once in order to 

get credit for both explanations. 

 

Question 3 – N2 

Business positive – who and why (decrease costs of production) but no implications of this 

(A evidence) 

Business negative – electricity companies not accepted.  

Household positive – cheaper power not accepted 

Household negative – pollution destroying recreational fishing accepted for A 

  


